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goodoooooon

2.1 00000OO

goobooboo

WO 4 ftw) = 0 (21)

000001000000 (00000 $)0000000000000000
0000000000000 y(¢)000000000 10000000000
000000 f0000000000 f=ay(t)0000 (5.1)000000
00000000 y(t) = yoexp(—at) D0DO0000000000000 a
000000y 0t=000y000000000200000000000
oo

d*y dy

ﬁJralEJrOéQy:O (2.2)

O000000y0O0O00v=dy/dt00000000OOOOOOOOOODO
gob 10000004

d
l + v + Yy = 0 (23)
dt
dy
— —v = 2.4
V=0 (2.4)

0000000000000 000000000000000 n0000O00
0000000 100000000000000000000000000
0000000000

dy

o Ty =0 (2.5)
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4 2. 00000000000

n—1
DDDy:(ylay277yn):(y’%77?#"77;/)3‘:(f1(y7t)7f2(y7t)5af’n(y7t))
00000000OD (5.5)00000D0 (5.1))DO0DLODUOODLDODOUODO
0000 (5.1)0000000000(.1)00000 ty—¢t0000000

u(t) = ylto) - / dt' f(y(t). 1) (2.6)

to
00o0o0oO0ooOo0o0oo020000000000000000 fOODOOOO
pooooooooooooOooOoOOODOOOOOOOOOO 200000
goboooooooooooooooooooboooooooooboooo
goboooooooooooobooooobooooDo

2.2 Euler O

(5.6)00 txc, O tODODOOODO 600000 OOOODOODOODOG, O
t.+1 00000 nO00D000O00O0O0MOODOOOOOOODOOOOOO
goooocooo

Y(tnt1) = y(tn) — 0tf(y(tn),tn) (2.7)

oboooboooobooooobooOooon

Yn+1 = Yn — 5tfn (28)

(5.8) 0000000000000y =y(ty)OOODOO0y(#) 000000
Euer00000000000000000000 (5.5)0 (dy/dt)|,,+fn=0
O0D0O0O0O00EuWer00DO00O0O

dy

Yn+1 — Yn
= 2.
it (2.9)

ot

n

000000000000 0D0O000O0D0OO (5.5)0 TaylorOOODOO

d 52 d?
yn+1:yn+5t£ +77y

= R +(6t)3 (2.10)

n

OO000O0C0O0OEueroOO
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2.2 Euler O 5

d
Yn+1 :yn_étfn :yn+6t dizt/ (2-11>

n

0000060000 20000000000000000 Euler0000
0100000

Euler 00 00000000000000000000000000000
00000000000000000000000000000000000
00000000000000000000000000000000000
00000000000000000000000000000000000
000000000000 0Euer0000000000000000¢=t,
00000y=y,+0y, 000000 6y, 000000000000000
(5.8)0000D000

of

Ynt1 +5yn+1 = Yn + OYn — 0t [fn +5fn} ~ Yy + OYp — Ot [fn + 873/

o)
(2.12)

0000000 (b.8) 0000000000000 0O0D0OO00DODOOOOGO
gooogoooo

of
OYpt1 = |1 — 0t —
Yn+1 [ dy

] 54y, (2.13)

n

opoooooo éy, 0000000 dy, 1 00000000 DOO0O0O0O0ODOO

gogod

of
ol

00000000 Euer 0000000000 (8f/dy)],, > 000 6t <
2/(0f/dy)|, 00000000 y,f00000000000000(5.14) 0

J2<1 (2.14)

5yn+1 = |:1 — 0t @
dy

}~5yn (2.15)
n
oooooo P—ﬁt%
000O0ooo0ooo
10000000 dy/dt+ay=0000000Euler0000000000
oooooo

}DDDDDDDDDDDD 1000000000
n
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a>0, 0t<2/«a

1000000 dy/dt+iwy=0000000[--]2=1+w?§t?>>100
OEuer000000000000
2000000 dy/dt+ay?=0000000FEuler0000000
ay >0, 0t<l1l/ay

00000000000 y¢)OOOoDODOoOOoOooOoDOOoOooOooDoo
2.3 Leap-FrogDl OQOQOOOOO

Euler 00000000000 DOOOODODOOOOODOO

@ _ Yn+1 — Yn—1

= 2.16
dt |, 201 (2.16)

0000 (5.1))0D0D00O00DDOODOODO
Yn+1 = Yn—1 — 25tfn (217)

000 Leap-FrogOODODOOOODOOO (5.1)0 £6t0 Taylor OO0 DOODO
gooooono

d
Ynt1 = Yn1+20t dit’ F(5E)3+ ()5 = Yy — 20t fr+ ()3 +(58) (2.18)

0O (.17) 000000060000 30000000000DODO0O0ODOOOD
Leap-FrogO00 2000000000000000DODO dy, 00000 (5.17)
gopoogoo

of

OYpt1 = OYp—1 — 20t —
Yn+1 Yn—1 Dy

00000000000000 ¢g0000 6y = g0yn—10 8Ynt1 = ¢26Un—1
0000000000

U (2.19)

n

of af 2
< .
gi—75t5§:t <5tay) +1, g1,9- <1 (2:20)
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2.4 Runge-Kutta O 7

10000000 dy/dt+ay=0000000g+ = adt£+/(adt)2+10
0000000 gy xg. =-10000g4|>1000 |g_|>1000
0000000000 Leap-FrogOOOOO0OO0O0OODO0OOOOO

2000000 dy/dt +iwy = 0000000i)1 —w?6t? >00000
g+ = iwdt++/1—w26200000 |g4 > =|¢g_|?=100000000
0000000011 —w?t2<00000 g4 = i(wit + Vw2t — 1)0
0000 gy xg.=-10000000000 Leap-FrogO OO OO0
000000 1-w?t?>00000

2.4 Runge—Kuttall

goboobooboobbooobooobobooboobboobobooboo
0000 Runge KuttaOO2000000

1
Yn+s = Yn = 500 (Yn: tn) (2.21)

Ynt1 =Yn — Otf (Ui tny1) (2.22)
(5.21)00000DOOO0 Eulerl]l]tn—>tn+1DDDD[ltn+% gooo
000(.20000000000000000DO00DOO0 tn+% gooogd
f(Wns1:tyy1) 00000000Leap-Frog 00 t, — t,n 00000000
0000000 Leap-FrogO OO OO Runge-KuttaO0O2000000 20
gooooooo

0000000 6y, 0000 (5.22) 000000

2
of +% ((Stgz ) ]ayn (2.23)

OYnt1 = ll—(;t
O0D000O0ORunge-KuttaOO20000000000000000C0O

dy
ofl 1/, of \2|°
1—ot 2L 42 (ot 2L <1 2.24
[ 6t8yn+2(5tayn> < (2.24)

n

10000000 dy/dt+ay=0000000RungeKuttaOO 2000
00000000000000
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8 2. 00000000000

a>0, 0t<2/«a

1000000 dy/dt +iwy=0000000[--]> =1+4w*t*/4>10
00 Runge Kutta 00 2000000000000000000000
O0w?5t? > wist* ~000000EuWer 0000000000

O0000000000000000000000000000 Runge-Kutta

0040000000000000000000000000TaylorO000O
0000400000000000000

1
Yokt = Yo — GO [ fu 261 + 207,y + Fi] (2.25)
, 5t
Frps =F |t = Efn,tn+% (2.26)
ot
Fay = F o= G hegitans] (227
=1 [yn - 5tf7/:+%atn+1:| (2.28)

2.5 Predictor-Corrector [J

Runge-Kutta 0O OOOODODOOOOOOOOOODODOOOODOOOOOO
00000000000 Predictor-Corrector 000000000000

s = tn = 5011 s, tusn) + S 1) (229)

gooooooooooooooboy,«,00ooOooOOoCc0oooboOoocOogoon
oot y,0000cOoooon

Yns1 = Yn — OLf (Yn,tn) (2.30)

000 (Predict) 00(5.29) O f(yy,41,tny1) 000000000 (Correct)
gog

st = U = 30U W tara) + S ()] (231)

O000O000O0O0Runge KuttaOO200000000000000000
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2.6 Symplectic 0

000000000000000000000000+¢000000000
00000000000000000000000000000000000
000000 Newton 00O0D0000000000000000000000
00000000000000000000000000000000000
0000000000000000000000000MO000000000
00000000 Symplecticd 0000
000000000000000000000 HOOOOD 100000
000000 p(t)000 ¢t)0000000000000000

H= 0" +0) (2.32)

Hamiton 000 0000000000000 O0O0O0O0DOOOOOOOOOO

good
WO _ . Py = g0 (239
goboooobooboobobuooboooboo
[q(t)] _ [cost sint} lq(O)] (2.34)
p(t) —sint cost| [p(0)

00000000000000000000 [¢g0),p(0)] — [¢(t), p(£)] O Jacobi

cost sint

—sint cost
gooooooooooooog

DDDDA&:[ 1DDDDdﬁMﬁm%%+ﬂﬁt:1DDDD

>_dpi Ndg; = dp; A dg; (2.35)

O Symplectic000DO0OO0O0O000DO0OO0DOOOOOOOOOOO Hamilton

gooogo
dg OH dp  0H

_ = 2.
dt  Op’ dt Oq (2.36)
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10 2. 00000000000

000000000000o0og SymplecticOOODODOOOOOODOOO
00 100000000000 Ewer00000O0O0O0OOOOOODDODO

pgooooooodod
M lq@] _ l 1 &] F(t)] (237
p()] -6t 1] [p(t)

0000 detM=1+§20000Symplectic00 60100000000
oooooooog

q(t+6t)
p(t + dt)

H(t+ 6t) = %(q(t b 02 4 p(t+ 6t)2) = (1+ 562 H (1) (2.38)

0000000000000 0000000 H)OODODDODODOoOoOoooo
000400 Runge KuttaOOOOOOOOOOOOOOO0O0OO

at+on)] _ o fa®] _[1- s s se— a3 ] [qt) (2.39)
- - 2 3 .
p(t + ot) p(t) —ot+iot* 12 S |p(t)
ooooo . .
5t St

000 Euer00000000000OOOOO0O0OH(tH)OOODODODOOO
goooooboon

0000000000000 000D000 Symplectic0O0O0O0OO0OOOOO
0000000000000t Euder0 00000

|t ot | a®| _ 4@ (2.41)
—5t 1—05t2| |p(t) p(t) '

00000000000000 detM=10000Symplectic0 00000
00 Symplectic 00 000000000000000(241)00000000
00000000000000 HOOOOOOOOO0OO0O000 F/00000
000000000000000000000000000 HOOOOOO
0000000000000000 F/000000000000000000
000 (241)00

q(t +6t)
p(t + 6t)

— :



RY : 2012/8/2(17:51) 4L t
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1
H =H+ §§tpq (2.42)

000000000 U0OUDODLDOUDAH' 0 HOOO 60 1000D00OD00ODO
0000000 (241)0 100 Symplectic0OODOOOO

oooo

0000000000 HOODOO 100 SymplecticDO0O00O000O00OO
gobooooo

H(q,p) =T(p) + V(q) (2.43)

00000000000000D00D0q0 pO0O0O0ODO I'DO0O0OOHamilton
00o00o0o0ooopooooo Ly 0000

dr
= {I H} =iLyT (2.44)

00000000
{A,B}=———_2Z (2.45)

O Poisson 0O0O0O0O0O0O0O0O0OO (2.44)DDDDDDD[I
D(t + 6t) = exp(i6tLy D (t) (2.46)

O00OLiouwilleDO00O0O00O00O0O iLy =iLyr+ily 0000000 60O
ooolooooo0oO00000O0O0O0O0O0O0OOOOOO

exp(i0tLy) = explidt(Lr + Ly)] ~ exp(idtLr) exp(idtLy ) (2.47)

0000000000000 0000000 SymplecticOOOOOO0O0OO
000oo00oooo20000000000000

exp(idtLy) ~ exp(i0tLy/2) exp(idtLy ) exp(idt Lt /2) (2.48)
100000 (246)000000 60 20000000000000
[(t + dt) ~ exp(idt L) exp(idt Ly )T (t) (2.49)

0000000 100 SymplecticOOD0OO0OO0O0O0O0O0OOO0O0DOOOOOO
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12 2. 0JoooOOoOoO0ooooo
00 exp(idtLy) O exp(idtLy) 00000000000 DOO T(p)O V(g) O
O000O0oO0OoOoDooOOé&O0OD0OD0O00O0000000000 SymplecticO
0000000000000 0000000000 SymplecticO0OOOOOO
gobooboboobooboobboobooboobboobooobon
00D000000exp(idtLy) O exp(idtly) 000000 D) 000000
gboobooboboooooboobooboboboooobooo

oT oV
gt +38t) = q(t) + 6t S| | p(t +6t) = p(t) — ot - (2.50)
W |y 99 | y(ty5t)

googbobobobobooooboboboboboooobobobo
00000000000 100000 (3T/8p)pw).quien 0000 t4+6¢00
goobobobooooooooon

gooo

0000000000000 0D000 100 SymplecticO (2.49) 0000
000000000000 000000000000000 H'oooooo
gogd

exp(0tLy)exp(d6tLy) = exp(dtLy) (2.51)

goboooooooooooo

H =T+V+ %{V, T} + %2({{1/, THTY+{{T,V},V}) +O(5t*) (2.52)

000000000000000000000000000 H = 1(¢*>+p?)
good
ot
H’:H+§pq+0(5t2) (2.53)

0000000000 H=4¢*+$p*0000
ot
H’:H+§pq3+0(5t2) (2.54)

0000000000 (252) 0000000 Baker-Campbell-Hausdorff O
gug
expXexpY =expZ (2.55)

| BB ;



J RY : 2012/8/2(17:51)

2.6 Symplectic 0O 13
Z=X+Y+ %[X, Y]+ 1—12([X[X, Y+ Y[X,Y]) +- (2.56)
[X,Y]= XY —YX (2.57)
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goodoooooon

00000000¢(z,y,2)00000000 ¢0200000000 z,y,2
00000000000000000000000000000000000
020020000000000000

0%¢ 0% 0% 0% 09 _
gz T 2ga, T g T g, Teg, TIéT9=0 (3.1)

ooodo e,b,c0000000000O0OO0O0O0DOOOODODOOODODOOO
gobooooooooood
e’ <acO0D00D0000000Laplace000000000D0O0DOO
e’>qc0000000D0D0D00O0ODOODOOOODODDOOO
e =¢0c00000000000000D0ODOO0OO0OODODOOOO

3.1 000Oo0OOoaooboo

0000000000000 000Laplace0 00O

%9  0%¢
922 + 87/2 =0 (3.2)
O Poisson 0 OO ) )
0%¢ 0%

OO000OLaplace00000D0DODOO0OOO0DODOOOODODOOOODOOOOODO
0000000000000D0O0O0Poisson 00000000000000O0O
gbooboboboooooobouobobobobobooooboobobooobogoo
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3.2 0000000000 15

gobogoboobooboobbooboobooboobboooboo
gogbooboobbooboobooboobbobboobooboon
goboobboobooboobboobobbooboobobooobon
gooboobobooooog

3.2 J0O0OooobooDg

0000000000000000001000000000000000
002000 ¢000000000 y(z,t)0000000000000000
00000000000000000 0000000

%y 5 0%
a2~ a2
000 (2+c¢2) (& -cZ)y.=0000000000000000000

ot
gobooobooboobboon

=0 (3.4)

0z 0z
E + C% =0 (35)
oy | Oy

0 (5.5)0y0000000000000 (5.6)00000 (5.5)000000
0>,000000000000000000000000000000000
00(4)00000000000(5.5)00000 2(z) = 2(z,t=0)000
000000000000000000000000

3.2.1 00000
0(54)00000¢t00000000000000O000OO0 EulerO MmO
Obdzs000000DO00DOO0OO0OO0DO00ODOObOOobODbOD

Z;jb+1 =27 - %(Zj-i,-l -z 1) (3.7)

gooooon Z?Ez(j(S:C,n(St)D[IDD[IDDDDDDDDDDDDDDD
goobobobooooo
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16 3. 000O0oOoDoOoOooo

0oooo (b.70D0DO00DO0DD0O0O0O0O

n n

0z 1_.,0%
n+1 n __ 2
j J
n n oz|" 1 ,0%|"
J j
0 (5.7)0000000
oz|"  1_,0%|" cot ozI" 1 ,0%|"
hdad il v hdiied AU Y 7 e fulp oot odiied
ol T2 |, 25;v< I R v
(3.10)
0O0(5) 000000000
oz " oz "
2= e (3.11)
ot ; or ;

O00000oO0O0o00oooO0o00ooOO00O0UD 0000200006200
0030000000000000000 (b.7)000D 00001000
Oz000020000000000000O00

0000000 (b.7)0D00DO0D0O0O0O0O0ODOOOODOOOOODOOO

z = Vet (3.12)

(3.12)0 (5.7) 000000
oot

,Un-i-leikwj _ vneikxj o 26xvn(eik:wj+1 _ eikwj,l) (313)
. 5t -
v = 1 - i< sin(kox) | " (3.14)
| oz ]
0000000 00o000oo00ooooo»00000000 v™ — v™4dv™
ooooo ) ]
n+1 06t : n
T = |1 — o sin(kdz) | ov (3.15)
x

oooOnO00000O0D0000O0»+10000000000000000

5t 2 5\
1—i§xsin(/€5x)} =1—|—<(;x> sin?(kéx) < 1
pgodddoooooobobobobbbbobbbbooddooouoooooo

goboooooooooocooboono
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3.3 0000000000 17
3.2.2 Lax O
Lax00O0OO0OO0OO00O000000O (5.7)DDDDDDDDDD
1 cot
1
z}” = §(Z?+1 +27 ) — %(zfﬂ—!—z?_l) (3.16)

000000000000 00O00D (3.12)000000D0O0DOOonO
n+1 Cét . n
v = |cos(kox) —is sin(kdx)| dv (3.17)

ooboOnO00000O0O0000O0»+100000000000000000

cot ? ot
cos(kdz) — 15— sin(kéx)} = cos?(kdx) + (5) sin?(kdz)
x x

zl—ﬂm%Mﬂ<l—(§i>jf§161&

0000000 LaxOODOOOOOOOODOOOODOOODOODOODOOOO
k0000 6t <ézx/cO000D00DODOOO cO0OO0dz00000000O0O
J00d #00000000000DODOODOOOOOOOOO

ooboobooboobooobobodoobooboobobooobobooboo
gooooobogoono

e Lelevier O

o Lax—Wendroff O

e Leap-Frog O

¢ Quasi-Second Order O
000000000000 [Numerical Recipe] 00000000

3.3 UJ0oO0ooobonDg

00000000000000000000000
a 2
u 0%
ot Oz?

0000000KODOOODOOOOOO000000000000000000

0000000000 u(z)=u(z,t=0)0000000000000

=0 (3.19)
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3.3.1 0 0O00~D0

0 (5.19)00000¢000000000000000Euler 00000
goboooboooooooooooooooOoon

vt o, Kot

u ul + W(u}ﬁrl —2u} +uj_) (3.20)
DDDDDDDDDDu;’:v”eikwiDDDDDDDDDDDDD
4K ot ko
51}"“:[1— 52 sin? (;)} su™ (3.21)
gobooooboobbooboobbooboobboobooboo
AKSt . o (kéz\1?
{1— 5,2 S <2>] <1 (3.22)

oooooo k0o 0<k§7r/5x|]|:|[||]DDDDDDDDDDDDDDDD
ooo
1622

0t < 5= (3.23)

000000ooo0ooooooo 000000000 0ODODOOOO0On
00 6220000000000 &00000000000000000OOO
000(.2000000000000000000000D00O0ODOOOOOOO
gooboobobooo

3.3.2 Dufort-Frankel [J
Dufort-Frankel D 0000000000 D0DO0O (5.20)DDDDDDDD

it _ a1, 206t wit

U; u; A+ 522 (u;'l+1 - (u] + U?_l) + U?_l) (3.24)

go0o0bobO0oOn»n+1000000000000DO00DODOOODOOOOO

goooooooOoo
1—a « ot
n+1 n—1 n n =9K
Y <1 + a) i (1 + a) (W +ujor), @ =2 dx2 (3.25)

000000000000 0o0O000O000o0Oo0noODufort-Frankel O O
gbooboobobooooooboobobobo
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3.3 0000000000 19

3.3.3 Crank—Nicholsen [
J000d0o0d0d«O000000000000

0%u 1 "

0000000000 Crank-Nicholson 000000000000 000OO

ooo
2u 1 [ 0%u|" %"t 1
_ _ +1 41 +1
2 —2<ax2, 02| | = agar (T2 e 20 )
J J
(3.27)
DDDDDDDDtDDDDDDDDDDDDDDDDDDDDD(5.19)|:|D
goooo
Kot

u,n+1 =u" +

] ¥ (ufyq —2u} +uf_y + u;zj:ll —2u"tt ) (3.28)

2522 J j—1

000000000000 0D000O0D00OCrank—NicholsonO0O 6t 0 dz 0O
go00ooOOoo0doOoooo0o0ooDooOn+10000000000O0ON
goobobobooooooboobooo

2 2
u;:_"11+<2 + a> u?"'lfu?fll = u?+1(2 — a) uitui_y =dj(j=1,2,---,N)
. (3.29)

oobooooood u}l:v”eikmeEl[lDElD

7Oﬂ)n+16m1j+l+(2+20&)’U”+1€kaj 705’L}n+167'kmj71 — avnezk1j+1+(272a)vnezk1j +avnezkz]‘,1

(3.31)
V"1 4+ o — acos(kdz)) = v (1 — o + a cos(kéx)) (3.32)
gooooooooooo
1 —a+ acos(kdr) 1 — 2asin® (%2)
(5 n+1 — 5 n _ 2 (5 n .
b 1+a—acos(k5x)} Y 1+ 2asin? (52) v (3.33)
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20 3. 000O0oOoDoOoOooo

1—2arsin”®(£32)
1+2asin2(%)
000000000000000000000000000
(5.20)0 NOOODDDOODOOODOO o, uf* /00000000
00000« 0,;0000000000000;+41,j-10000000
0000000000000000000000000 0Crank-Nicholsen O
000000000000000j=1,NO0O0O0D00O0O000000000
00000 n00000000000000000000 uf =w{0u =uly
00000000

100000Gauss0000O

(5.29)0 NODOUOOODODOOUOOODODOOUOODODODDOODOOODOOOODOO

2
oo0o0o0o00oo0 k0000000000 OoOoOO ] <10

1 0 0 - 0 0 0| ryrtt] T oar ]
-1 2+2 -1 0 0] [up+t a3
0 -1 2+2 0 0 0 |ust n
0 0 L2420 -1 0 U dy o
-1 24+ % -1 unN+—11 Ay
o 0o - o o 1|l&"] Lay]
(3.34)

oo0o0ooOo00ooooooO0oooooo0ooo0ooO a,b,e,doO
oboobd«0000oooogooa
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33 0000000000 21

by —C1 0 cee 0 0 0 B Uy ] M dy 7]
—as9 bg —C2 e O 0 0 Ug d2

0 —as b3 . 0 0 0 us ds

by_s  —Cn_9 0 UN—2 dn_2

0 0 0 - —an_1 by.1 —cn_1| U1 dn-1

o 0 0 - 0 —an by | Luv 1 [dny
i i (3.35)

CGauss 00 000000000000000000000000000000
1000 (1)002000 (2)000w 00000000 (200000

biuy — crue = d (1)
—aguy + baug — couz = ds (2)
1
QU — CoU3 = 82 (2)/
a; =by, s1=di, 062:b2*a;7j1, 52:d2+2i11

000000 —1)Y0D04000 (ij)000 v, 00000000 (3
ooooo (i=3,---,N—1)

QU1 — Ci—1U; = 81 (i—1)
—Ui—1 + biu; — Guip = d; ()
!
QiU = Cilli11 = s (1)’
ai:bi—%, sizdiﬁ-%
Qi1 Q-1
o000 (N-1/00 NODD (N)OOD uy_; 00000000 (N
ooooo
QGN_1UN-1 —CN-1UN = SN_1 (N -1y
—anun_1 +byuy = dy (V)
!
ANUN = SN (NY
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22 3. 0oooooooooo
ANCN—1 ANSN—-1
ay=by—-———, sy=dv+t———
aN—1 aN—1

00000 (N ODOD uy = sy/ay 0000@G) 000000 u; =
(si + ciuip1)/oy 0 i = N—-1,N—-2,...,10000000000000
00« 00000000000

10000
Crank-Nicholson 0000000000000 (5.28)000000000000

Kot
W = o 2+ - 20 )
1
= fa(u?ill 2u "H + u"“) +b" (3.36)

2

b =ul+a(ul, —2u"+u? ) 000 n0000000000000000
000000000000000000 &Y' 0000 o« W) 00
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